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QUESTION 1
Refer to the exhibit below.

Schama A Schema B
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Schema A displayed in the exhibit has been transformed into schema B. How can the before and after schemas be
described?

A. The snowfake schema has been transformed into a de-normalized schema.
B. The snowfake schema has been transformed into a normalized schema.

C. The star schema has been transformed into a de-normalized schema.

D. The star schema has been transformed into a normalized schema.

Correct Answer: A

QUESTION 2

In which two places in the Chart Properties of a Gauge can expressions be entered? (Choose two.)
A. Calculation Condition of the object

B. Number of major/minor units for the scale

C. show Condition of the object

D. X and Y position of the object

E. Auto Minimize of the object

Correct Answer: AC

QUESTION 3

What is the interpretation of a 98 percent subset ratio in the CustomerlID field in an Orders table when the subset ratio of
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the same field in the Customer table is 100 percent?
A. 98 percent of the orders have customers in the data, but only 2 percent of the orders have been shipped
B. 2 percent of the orders have customers in the data, but 100 percent of the customers have placed an order

C. 100 percent of customers are defined in the Customer table, but 2 percent of the customers have not placed an
order

D. 98 percent of the customers are defined in the Customer table, but 2 percent of the customers have not placed an
order

Correct Answer: C

QUESTION 4

An Address Book table has a Country Code field. A standard lookup table exists in Excel to translate the
Country Code to a Country description.

The Country Code will be US for any Address Book record with no Country Code value.

Which technique should a developer use to ensure a Country description is loaded for all Address Book
records?

A. load the Address Book records and perform a Left Join of the Excel data to the Address Book table

B. load the Excel data and then load the Address Book data ensuring the Country Code field has the same name in both
tables

C. load the Excel data as a Mapping table and use Applymap with a default mapping value when loading the Address
Booktable

D. load the Excel data, then load the Address Book data using an If function to default Country Code to US, and then
use the Peek function to retrieve the Country description

Correct Answer: C

QUESTION 5

A developer needs to load an Account table and a Contact table from QVDs. The developer needs to load
only contacts for the accounts that have already been loaded.

There may be more than one contact for an account, so the developer needs to keep the Account and
Contact tables separate.

After loading the Account table, which function should the developer use in the Where clause of the

Contact table load?
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A. Previous

B. Match

C. Exists

D.In

Correct Answer: C
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